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GDS TO PM/MTS UTTARAKHAND CIRCLE-2021 
(1.) Choose the correct answer. 

I.) Any postal article can be redirected by the office of posting  
ii.) Any postal article can be redirected by the office of destination  
iii.) Any postal article can be redirected by any intermediate office 
iv.) Article cannot be redirected 
(A.) (i) and (ii)  (B.) (i), (ii) and (iii)  
(C.) (ii) only  (D.) None of the above 

(2.) A postal article reposted after having been opened or reposted is treated as 
(A.) An unclaimed article 
(B.) An article to be redirected 
(C.) An article posted for the first time and charge with the postage accordingly 
(D.) An article to be sent 

(3.) Choose the correct answer 
(i) If an article is refused it will be kept in post office for 7 days  
(ii) If an article is refused it will be kept in post office for 30 days  
(iii) If an article is refused it will be return to sender immediately  
(iv) If an article is refused it will be kept in post office for 3 months 
(A.) (i) and (ii)  (B.) (i) and (iii)  
(C.) (iii) only  (D.) None of the above 

(4.) Personal communication is not allowed in: 
(A.) Letter (B.) Book packet containing periodicals 
(C.) ILC (D.) Parcel 

(5.) Hours of business of a Post office and RMS office show: 
(1) The details of bags to be received only  
(ii) The details of bags to be dispatched only  
(iii) Opening hours of a post office and RMS office  
(iv) The hours during which business is transacted with public and the time at which mails are delivered and 
dispatched 
(A.) (i) and (ii)  (B.) (i) and (iii)  
(C.) (i), (ii) and (iii)  (D.) (iv) only 

(6.) The postage chargeable on the delivery of official postal articles when the postage is insufficiently paid is 
(A.) Equal to the deficiency (B.) Double the deficiency 
(C.) No extra charge (D.) None of the above 

(7.) For breach of condition, book packet containing periodicals will be treated as 
(A.) As letter and double the deficiency is charged 
(B.) As parcel and double the deficiency is charged 
(C.) As letter/parcel whichever is less difference in postage charged 
(D.) As letter/parcel whichever is less and double the difference in postage charged 
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(8.) When survival benefits of 15 years AEA plans given? 
(A.) After 2 years, 4 years and 6 years (B.) After 3 years, 6 years and 9 years 
(C.) After 6 years, 9 years and 12 years (D.) None of these 

(9.) Mark the incorrect option: 
(A.) The Special registration envelopes provided the post office cannot be used for the transmission of 

Unregistered articles  
(B.) Reuse of the stamps that has already being used for payment of postage, postal fee is an offense 

under the Indian Penal Code 
(C.) Manufacture and use of the fictitious postage stamp for any purpose what so ever is an offence 

under the Indian Penal Code 
(D.) Postage stamps which have been cut and separated from embossed envelopes or Post cards can be 

used in payment of postage 
(10.) Loan in PLI may be granted on security of an Endowment Assurance policy, if it has been in force at least 

(A.) Five years (B.) Three years (C.) Four years (D.) Six years 
(11.) An article written with remarks by regd post found in the letter box 

(i) To be returned to the sender  
(ii) To be forwarded to the addressee by ordinary post  
(iii) Handed over to the treasurer  
(iv) Handed over to the registration PA 
(A.) (i) and (ii)  (B.) (i), (II) and (iii)  
(C.) (i) and (iii)  (D.) (iv) only 

(12.) Max size limit of parcel is 
(A.) Length 1mtr and length and girth is 1.80m  
(B.) Length 2mtr and length and girth is 1.90m  
(C.) Length 3mtr and length and girth is 1.20m  
(D.) None of these 

(13.) Choose the correct answer: 
(i) Currency period of IPO is One year 
(ii) Currency period of IPO is two years 
(iii) Max weight of ILC is 3 gm 
(iv) International parcel compensation is 30 SDR  
(A.) (i) and (ii)  (B.) (ii) and (iv) 
(C.) (ii) only  (D.) None of the above 

(14.) Mark the correct option: 
(A.) The weight of privately manufactured letter card should not exceed 3 gram 
(B.) The weight of letter should not exceed 4 kg 
(C.) The weight of registered parcel should not exceed 35 kg 
(D.) The weight of book packet should not exceed 2 kg 

(15.) Unique...........number is generated for booked e-MO to facilitate the tracking: 
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(A.) MTCN (B.) PNR (C.) TXN (D.) Barcode 
(16.) Demurrage fee to be collected from the addressee for detaining of VP for 5 days beyond the prescribed 

period is 
(A.) 10/- (B.) 15/- (C.) 25/- (D.) Free of cost 

(17.) Choose the correct statements about Prohibited Articles: 
(i) Gold coins or bullion or both of a value exceeding Rs. 20,000/- 
(ii) Any explosive, inflammable, dangerous, filthy, noxious or deleterious substance (iii) Any living 
creatures or other thing which is either noxious or likely to injure postal article in course of transmission by 
post or any officer  
(iv) Gold coins or bullion or both of a value exceeding Rs 50,000/- 
(A.) (i), (ii) and (iii)  (B.) (i) and (iv) only  
(C.) All of the above (D.) None of the above 

(18.) NBMS means 
(A.) National business management system 
(B.) National bill mail service 
(C.) National board of management system 
(D.) None of these 

(19.) The barcode use barcode used for booking of registered articles would contain: 
(A.) 4 alphabets and 9 digits (B.) 3 alphabets and 9 digits 
(C.) 2 alphabets and 11 digits (D.) 5 alphabets and 8 digits 

(20.) Choose the correct statement/s: 
(i) Recall of postal article fee for each article is Rs. 6  
(ii) Recall of postal article fee for each article is Rs.10  
(iii) Postal Restante article can be detained in post office for one month  
(iv) Postal Restante article can be detained in post office for 07 days 
(A.) (i) and (iii) only  (B.) (i)(ii) and (iii) only  
(C.) (i) and (ii) only  (D.) None of the above 

(21.) e-MO contains how many digits: 
(A.) 16 (B.) 12 (C.) 15 (D.) 18 

(22.) Insured article limit in case currency note and any value of article: 
(A.) 1,00,000 & 10,000  (B.) 20,000 & 1,00,000  
(C.) 10,000 & 50,000 (D.) None of these 

(23.) Insurance is compulsory, if the article contains: 
(A.) Gold coins or bullion, currency notes & any other valuable articles 
(B.) VP articles below the value of Rs 600/ 
(C.) Containing lorry receipts 
(D.) All parcels exceeding 4 KG in weight 

(24.) First class mails are: 
(A.) Letters, Book packets and letter card 
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(B.) Letters, Letter cards, and regd news paper  
(C.) Letters, postcards and letter cards 
(D.) Letters, Blind literature packets and letter cards 

(25.) Money order payable to a person who is not permanent resident within the jurisdiction of office of payment: 
(A.) Will not be paid 
(B.) Payment will be made only through cheques  
(C.) Payment will be made only by the postmaster 
(D.) Can be paid in normal course on satisfactory proof of identity of the person in the MO 

(26.) Select the incorrect statement/s 
(i) Headquarter of Karnataka Postal Circle is situated at Bangalore  
(ii) Headquarter of North East Postal Circle is situated at Shillong  
(iii) Headquarter of Telangana Postal Circle is situated at Bangalore  
(iv) Headquarter of HP Postal Circle is situated at Shimla 
(A.) (i), (ii) and (iv) (B.) (i) and (iii) 
(C.) (iii) only (D.) (i) only 

(27.) Choose the correct answer: 
(i) The working hours of the post offices are generally fixed by DG Posts  
(ii) The working hours of the post offices are generally fixed by Head of Circle  
(iii) The working hours of the Night post offices are generally fixed by DG Posts  
(iv) The working hours of the post offices are generally fixed by Head of Circle 
(A.) (i) and (iv) only  (B.) (ii) and (iii) only  
(C.) (ii) and (iv) only  (D.) None of the above 

(28.) The amount for which a single money order may be issued must not exceed Rs: 
(A.) 100 (B.) 500 (C.) 1000 (D.) 5000 

(29.) The maximum age limit for AEA (Anticipated endowment assurance) a 15-year policy is: 
(A.) 35 (B.) 45 (C.) 20 (D.) 40 

(30.) In respect of Children policy, the Child age should be 
(A.) 1 to 10 Years (B.) 5 to 18 Years (C.) 1 to 18 Years (D.) 5 to 20 Years 

(31.) Expand CTMO: 
(A.) Computerized Transit Mail Office (B.) Computer Trained Mail Office 
(C.) Classified Transit Mail Office (D.) Classified Trained Mail Office 

(32.) The first class Head Office situated at the Headquarters of the Head of a Circle or, where there are more 
than one such Head Office, the one attached to the Headquarters, is termed as: 
(A.) Head Post Office (B.) Sub Post Office 
(C.) General Post Office (D.) Circle Office 

(33.) Any Post Office which is situated on a line of through mail communication, and receives and sorts bags 
intended for offices in advance, without opening them, is: 
(A.) Sorting Office (B.) Transit Office 
(C.) Branch Office (D.) Exchange Office 
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(34.) The weight of an air mail bag or air TB should not exceed: 
(A.) 30 kg (B.) 10 kg (C.) 20 kg (D.) 35 kg 

(35.) An office of exchange in which the work assessment of customs duty on foreign mails is a carried out: 
(A.) Sub Foreign Office (B.) Office of Exchange 
(C.) Transit Office (D.) Foreign Post Office 

(36.) Expand DMSL: 
(A.) Day Mail and Sorting List (B.) Due Mail and station List 
(C.) Due Mail and Sorting List (D.) Daily Mail and Sorting List 

(37.) What are true about "Too late" letters? 
i.) These are stamped "Detained late fee not paid" and detained till the next dispatch  
ii.) These are posted within such interval but without having been fully prepaid with postage and late fee  
iii.) These are posted within such interval but with fully prepaid with postage and late fee  
(A.) (i) & (ii) only  (B.) (i) only  (C.) (i) & (iii) only  (D.) (i), (ii) & (iii) 

(38.) Choose the correct answer: 
(i) Registered Bundle is prepared when there are more than two uninsured registered article for an office  
(ii) Registered Bundle is prepared when there are one uninsured registered articles for an office  
(iii) A direct parcel bag is to be closed, whenever there are 5 or more Registered/Insured parcels to a 
particular delivery PO  
(iv) A direct parcel bag is to be closed, whenever there are one or more Registered/Insured parcels to a 
particular delivery PO 
(A.) (i) and (iii) only  (B.) (i) & (iv) only  
(C.) (i), (ii) & (iii) only  (D.) None of the above 

(39.) Expand RLO: 
(A.) Returned Letter Office (B.) Returned List Office 
(C.) Returned Latest Office (D.) Returned Lost Office 

(40.) All articles super scribed to "to be kept called for "to be await arrival" is classified as 
(A.) Deposit articles (B.) Insufficient addresses 
(C.) Postal Restante  (D.) Unpaid articles 

(41.) Sub Post Office sent to Branch Post Office: 
(A.) BO Slip (B.) SO Slip 
(C.) SO Daily Account (D.) BO Daily Account 

(42.) What are the irregularities which are required to be brought to the notice of postmaster by the sub Account 
Assistant? 
(A.) When the amount held in cash by a so exceeds the authorized max balance and cash is held below 

the authorized balance 
(B.) When the stamps are not sold by SO 
(C.) Both A&B 
(D.) Neither A or B 

(43.) Registered bag containing cash bag should be sealed by: 
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(A.) Date seal (B.) Cash seal 
(C.) Insured seal (D.) None of the above 

(44.) BO Daily account exchanged between: 
(A.) SO and HO (B.) BO and HO (C.) BO and SO (D.) Either B or C 

(45.) SO slip is prepared in 
(A.) Single copy (B.) Duplicate 
(C.) Triplicate (D.) Quadruplicate 

(46.) The stationery rate list issued by the ............which shows the quantity or number of the articles of stationery 
to be supplied to each set of every section and mail office in the Division 
(A.) HRO (B.) HSA (C.) SRM (D.) SA 

(47.) A daily report (M.S. 83) is required to submit by whom to the Superintendent (or the Superintendent 
through the Record Officer: 
(A.) Sorting Assistant (B.) Head Sorting Assistant 
(C.) Head Record Officer (D.) None of the above 

(48.) Every set is supplied with the following stamps and seals 
(A.) A date stamp (B.) A name stamp 
(C.) A date-seal (D.) All of the above 

(49.) The mail abstract is divided into .......parts? 
(A.) 3 (B.) 4 (C.) 2 (D.) 5 

(50.) B order is issued by 
(A.) Supdt. RMS  (B.) Head Sorting Assistant 
(C.) Sorting Assistant (D.) Head Record Officer 

(51.) Earthquakes waves are of two types namely: 
(A.) Body Waves and surface Waves (B.) Circular Waves and Body Waves 
(C.) Body Waves and Vertical Waves (D.) Circular Waves and Vertical Waves 

(52.) The study of moon is called: 
(A.) Lunarlogy  (B.) Salenology  
(C.) Moonlogy  (D.) None of the above 

(53.) With reference to Tuberculosis, consider the following statements: 
1.) It is caused by bacteria  
2.) It is a vector-borne disease 
3.) It is both a preventable and curable disease  
Which of the statements given above is/are correct? 
(A.) 1 only (B.) 2 only (C.) 1 and 3 only (D.) 1, 2 and 3 

(54.) Consider the following statements regarding the ASEAN: 
1.) Indonesia, Malaysia and Singapore are known as the founding fathers of the ASEAN  
2.) The ASEAN declaration is also known as the Jakarta declaration  
3.) Russia is the largest provider of development assistance to the ASEAN region. Which of the statements 
given above is/are correct?  
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(A.) 1 only (B.) 2 and 3 only (C.) 3 only (D.) 1 and 3 only 
(55.) If you have.........., you will be trusted person because they will see that you are committed to your company 

(A.) Loyalty (B.) Organizational Skills 
(C.) Productivity (D.) Respect 

(56.) Union Budget is always presented first in 
(A.) The Lok Sabha (B.) The Rajya Sabha  
(C.) Meeting of the Union Cabinet (D.) Joint session of Parliament 

(57.) What is 'Milam'? 
(A.) A Glacier (B.) A river 
(C.) A pass (D.) A mountain range 

(58.) Which one among the following has the power to regulate the right of citizenship in India: 
(A.) The Union cabinet (B.) The parliament 
(C.) The Supreme Court (D.) The Law Commission 

(59.) Which of the following are the Panch Prayag in Uttarakhand?  
(i) Devprayag    (ii) Rudraprayag  
(iii) Shivprayag   (iv) Vishnuprayag 
(A.) (i) (ii) (iii)  (B.) (i)(iii) (iv)  
(C.) (i)(ii) (iv)  (D.) (i) and (iii) only 

(60.) …………………are beliefs and altitudes we have that can actually conflict with our ethical decisions 
(A.) Morals (B.) Principles (C.) Virtues (D.) Value 

(61.) 3640 - 14x16 + 340= ? 
(A.) 3500 (B.) 4500 (C.) 1500 (D.) 2500 

(62.) 8 + 8 of 8 + 8 - 34/5=? 
(A.) 36/5 (B.) 46/5 (C.) 26/5 (D.) 16/5 

(63.) A man buys a cycle for Rs. 1400 and sells it at a loss of 15%. What is the selling price of the cycle? 
(A.) 1190 (B.) 1160 (C.) 1090 (D.) 1202 

(64.) A sum of money at simple interest amounts to Rs.2240 in 2 years and to Rs 2600 in 5 years. What is the 
principal amount 
(A.) 1000   (B.) 1500   (C.) 2000   (D.) 2500 

(65.) There are 50 students in a class. Their Average weight is 45 kg. When one student leaves the class average 
weight reduces by 100g.What is the weight of the student who left the class? 
(A.) 47.9 kg (B.) 45.5 kg (C.) 49.9 kg (D.) 50.1 kg 

(66.) A and B can together complete a piece of work in 4 days. If A alone can complete the same work in 12 
days. In how many days can B alone complete work? 
(A.) 4 days (B.) 5 days (C.) 6 days (D.) 7 days 

(67.) Sakshi can do a piece of work in 20 days. Tanya is 25% more efficient than Sakshi. The number days taken 
by Tanya to do the same piece of wore is? 
(A.) 15 (B.) 16 (C.) 18 (D.) 25 
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(68.) The ratio of Vimal's age and Aruna's age is 3:5 and sum of their ages is 80 years. The ratio of their ages 
after 10 years will be? 
(A.) 2:3 (B.) 1:2 (C.) 3:2 (D.) 3:5 

(69.) If 12 men or 18 women can do a piece of work in 14 days, then how long will 8 men and 16 women take to 
finish the work? 
(A.) 9 days (B.) 10 days (C.) 12 days (D.) 14 days 

(70.) 20 men can reap a field in 20 days. When should men leave the work, if the whole field is to be reaped in 24 
days after they leave the work? 
(A.) 5 days (B.) 4 days (C.) 3 days (D.) 2 days 

(71.) Pointing to a photograph,Vipul said, "She is the daughter of my grandfather's only son." How is Vipul 
related to the girl in the photograph? 
(A.) Father (B.) Brother (C.) Cousin (D.) Uncle 

(72.) I am facing East. Turning to the right I go 20 m. then turning to the left I go 20 m and turning to the right I 
go 20 m, then turning to the right I go 40 m to the right. In which direction am I from my original position? 
(A.) North (B.) West (C.) South (D.) East 

(73.) A is B's sister, C is B's mother. D is C's father. E is D’s mother. Then, how isA related to D?  
(A.) Grandfather (B.) Grandmother 
(C.) Daughter (D.) Granddaughter 

(74.) In each of the following questions, select a figure from amongst the four alternatives, which when placed in 
the blank space of figure (X) would complete the pattern. Identify the figure that completes the pattern 

 

 
(A.) 1 (B.) 2 (C.) 3 (D.) 4 

(75.) Find the number of triangles in the given figure. 

 
(A.) 15 (B.) 16 (C.) 17 (D.) 18 
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GDS TO PM/MTS UTTARAKHAND CIRCLE-2021 KEY 
ANSWER 

(1.) C (2.) C (3.) C (4.) B (5.) D 
(6.) B (7.) D (8.) C (9.) D (10.) B 
(11.) D (12.) A (13.) B (14.) A (15.) B 
(16.) B (17.) A (18.) B (19.) A (20.) A 
(21.) D (22.) B (23.) A (24.) C (25.) D 
(26.) C (27.) C (28.) C (29.) B (30.) D 
(31.) A (32.) C (33.) B (34.) A (35.) D 
(36.) C (37.) A (38.) A (39.) A (40.) C 
(41.) D (42.) A (43.) C (44.) D (45.) B 
(46.) C (47.) B (48.) D (49.) C (50.) A 
(51.) A (52.) B (53.) C (54.) A (55.) A 
(56.) A (57.) A (58.) B (59.) B (60.) D 
(61.) B (62.) B (63.) A (64.) C (65.) C 
(66.) C (67.) B (68.) A (69.) A (70.) D 
(71.) B (72.) B (73.) D (74.) D (75.) C 

 

 
 
 
 
 
 
 
 
 
 
 
 


